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Dowy

A database table PROD has seven records, as shown below:

o BSTAT
1 A
1 P
SHAMPOO 1 e
TOOTHPASTE 3 P
ORANGE 4 S
CHARCOAL 5 P
NOODLES 6 S

What would be the output after executing the following SQL command?

SELECT MAX (WEIGHT) FROM PROD WHERE PSTAT <> 'S'

[

Uowy»
= oy »n

When changing the password of a school Intranet account, which of the following is an example of data

verification?

Input a new password twice.
Input a new password and a mobile phone number.
Input a new password that consists of at least one special character.

Input the old password and a new password.

Tow
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file sizes of the following original files are all | MB. Urnider normal circumstances, after compressing

g
gm, which compressed file has the largest file size?
gl Compressed files

A testA html testA.zip

Bo mm'doc mtB.zip

C testC.txt testC.zip

p. testDjp8 testD.zip

Below is an example of Korean text:

3 AL
Which of the following character encoding methods can be used to represent Korean text?

(1) ASCII
2 Unicode
(3) Big-5 code

(1) only
(2) only
(1) and (3) only
(2) and (3) only

Dow>

Which of the following are appropriate for presenting a storyboard?

(1) A slide show
(2) A multimedia document

(3) A database file

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

SOw>

a mobile application to process staff records. In each record, 10 bits are used to store

A company designs
re Chinese names. How many staff records can the mobile

staff numbers and 12 bytes are used to sto|
application support?

A 2]0
B, 2”
g 22
p. 2%

nt information, including student name, average mark and number

John writes a program to process stude
orresponding student information?

of subjects taken. Which data types should John use for storing the ¢

Student name Average mark Number of subjects taken
A. Boolean integer real
B. Boolean real integer
C. character integer real
D. character real integer




10.

11.

12

Which of the following is the 8-bit two’s complement representation of the decimal valye -8?

1000 1000
1111 1000
1000 0000
0000 1000

vowy

Mary inserts a hyperlink in a document file, What :
hy;re};'link? vp at are the possible consequences when following the

(1) Open a video file.
(2) Jump to another page of this document,
(3) Jump to a page of another document.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

cow»

A text file contains a character string “*IT*’. Peter :
s ! uses a program
character string in the hexadecimal number sy pro to view the ASCII codes of the

stem, as shown below:
124 [49 [ 54 [2a)

How many bits are required to store the character string?

A 8
B. 16
C. 32
D. 64

Which of the following elements can be included in a PDF file?

(1) Photos
(2) Videos
(3) Hyperlinks

A. (1)and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1),(2)and (3)




13.

14.

15.

16.

17.
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The following two barcodes, X

e and Y, are f; ;
What is the major difference betweep thcm?ound On & soft drink can ang an advertising poster respectively.

sty
H

rl
Mum

Y

WA ﬂ

A. Thearea of X must be larger thap that of Y,
B. Only Y can be read by a Smartphone,

C. Y canrepresent more data,

D. Y cannot represent characters,

Which of the following statements about mail merge is correct?

A. Only one file is needed in each maj] merge.
B. Mail merge is mainly used for sending email,
C. Data can be sorted and filtered f;

D

. Or a mail merge,
. Mail merge usually involves presentation software,

Free online encyclopedias such as Wikip

edia contain a huge number of articles. Which of the following
statements about the online encyclopedi

as are correct?

(1) People can search the relevant articles
(2) The articles have no copyright.

(3) These encyclopedias are updated frequently,

A. (1)and (2) only
B. (1)and (3)only
C. (2)and (3)only
D. (1),(2)and (3)

for a topic quickly.

A router should be used to connect

two different networks

a printer and a local area network
two computers

a computer to a server

DOow>

Which of the following are the basic functions of an operating system?

(1) Email management
(2) Memory management.
(3) Inputoutput management

A. (1)and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1),(2)and (3)
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19.

20.

21.

lid state drive (SSD) commonty used in mobile devices instead of a hard disk drivey
Why is a 50

ical size of a SSD is sgmller.
R: mc capacity of a SSD_ls smaller.
The data access rate of a SSD is lowe.r. ‘
Mobile devices do not support hard disk drives.

Onw>

Which of the following can help reduce the time needed to access files in a hard disk drive?

Redundant Array of Independent Disks (RAID)
Virtual Private Network (VPN)

Driver programs

Defragmentation software

SCow>

Read the configuration of a desktop computer below:

® Intel® Core™ i7 CPU
® 16GB DDR4 RAM
® ITBSSD

® 802.11ac Wi-Fj

What information can be found out from the configuration?

(1) The viewable size of the display unit

(2) The maximum data transfer rate of a wireless network
(3) The time to start up a computer

(1) only
(2) only
(1) and (3) only
(2) and (3) only

Cow»>

Which of the following are the latest trends in hard disk drive development?

(1) Lower power consumption
(2) Longer lifespan
(3) More built-in software provided

A. (1) and (2) only
B. (1) and (3) only
C. (@) and (3) only
D. (1),(2) and (3)

Which of the following statements about the fetch-decode-execute cycle in a CPU is correct?

A. Registers are used in the cycle.
B. Thecycle is an assembly language program.

C. The sequence of the instructions in the cycle mainly depends on the CPU clock rate.
D. Thecycleis mainly used to perform arithmetic operations.

2018-DSE-ICT 1A-6 o
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n a PO
pfintefs
1) The receipt printout can be kept longer.

7) Itis quiet during printing.

(3) The printing time is short.

to print receipts?

A ) only

(2) only
© (1)and (3) only
p. @ad(?) only

At home, Mary logs on to a computer in her office and does some word processing.

g >8

Home Remote logon Office

Which of the following statements about the remote logon is correct?

Both computers should have the same word processing software.
Both computers should have the same firewall.

The remote logon supports data encryption.

Two computers are involved and hence word processing is faster.

oWy

The following diagram is part of the folder structure of www.abc.edu.hk:
[ D index.html D Folder
I exam html .
D File

— [
[ plipg

—— linfo

[ rlirg
- [ index html
([ plirg

—""D index.html

Which of the following URLS is not valid?

A hup://www.abc.eduhklchi/pl.jpg
B. http://www.abc.edu.hk/hfo/chi/pl.jpg
C. hutp://www.abc.edu hk/eng/pl.jpg
D. han/www.abc.eduhk/index.hnnl

int-Of-Sale system in a restaurant, which of the following is/are the reason(s) for using

thermal




Which of the following is not an email protocol?

IMAP
SMTP
POP
FTP

Amy can browse the web site of ABC School through its IP address, but not its URL. What is the POssible

Cowy

reason for this?
A. The corresponding web pages have not been uploaded onto the wc;b server.
g B.. The domain name system (DNS) server is temporarily out of service.

C. The browser in use is not the latest version.
D. Some plug-ins for the browser in use have not been installed.

When watching videos from a web site using streaming technology, which of the following wi]j be

involved?
(1) DNS
(2) FTP
(3)
A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1),(2)and (3)
Study the following web page:
|-10]x
Fruit in the market: A
-
® Orange
® Apple -
@® Banana
® Cherry
® Pinecapple
® Lemon
® Watermelon —
® DPeaar v

Which of the following can improve the ease of navigation?

(1) Tables
(2) Frames
(3) Background music

A. (2)only
B. (3)only
C. (1)and (2) only
D. (1)and (3) only



o following algorithm s used to find the value of (17 + 2° + 3?4 ... 4 N
0.
’ INPUT N
s €0
gure [ ]
S € S+ NXN
N€N-1
OUTPUT S

What should be in the box?

ZZ2Z 2
A AV YV
- O O

DOowy

31 study the following algorithm:

INPUT n
IF n < -6 THEN
y€y+2
ELSE IF n > 9 THEN
yey=2
ELSE y € y x 2

Which of the following sets of input data is most suitable for testing the algorithm?

-6, 0, 9

<2; 0 1y 2

-20, -61 01 9, 15
-20, -10, 0, 1, 10, 20

vowy

Ey) Study the following segment of a flowchart:

!

N €0

Y

Yes
X o= Y X 6' X‘Y

No
/ Output X /

Suppose that the initial values of X and Y are 14 and 4 respectively. What is the output?
A0

y

N € N+l

vow

1
. 2
. 3

MR NCC 1P A




33.

34,

35.

36.

37.

. 1 of the following Boolean expressions is ‘true’?
=2 and 2 = 3, Which of
Suppose that X = 1, Y .
A ((x = 1) AND (Y>-2)) AND (Z>g)
B. ((X= 1) AND (Y > -2)) 23[, :Z ; 3;
: = 1) OR (Y2 -2))
g. :)((x- 1)) AND ((Y > =2) AND (2 > 3))

What are the characteristics of using modularity for designing computer solutions?
(1) Usually modularity is used to solve simple problems.
(2) Modules may be reusal?le._

(3) The development cost is higher.

(4) Modules can be independently developed.

(1) and (3) only
(1) and (4) only
(2) and (3) only
(2) and (4) only

oow>

What are the good ergonomic practices in software design?

(1) Fixed font size
(2) Appropriate system messages to users
(3) Consistent user interface

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), () and (3)

oow»>

Ms Lee is a photographer. Mr Cheung downloads a lot of copyright photos from her web site and useg

them in his tutorial school without her approval. What legal consequences are there of doing this?

(1) Mr Cheung needs to compensate Ms Lee.
(2) Mr Cheung commits a criminal offence.
(3) Mr Cheung needs to close down his tutorial school.

A. (1)and (2) only
B. (1)and (3) only
C. (2)and (3) only
D. (1),(2)and (3)

Why do we need Secure Sockets Layer (SSL) on the Internet?

A. AnTP address includes at least four values.

B. The socket for power supply can be protected.
C. Data transmission can be faster.

D. Data can be safely transmitted.

2018-DSE-ICT 1A-10 13
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»

what Ware the major henefi(x
[tomet? ) of uaing datn encryption for tranaturring confldential Informati th
rmation over the

(1) Hackera cannot oolleot the en
o orypled d
('3 “::::; : ;:::uul ld\\ml the vonfldontinl ll:‘ft:‘uolnt.l?y‘
not delets the confldentlal lnlhrmn‘t)l':w::mu{ll
oaslly,

(1) only
(2) only
(1) and (3) only
(2) and (3) only

sow>

What are the appropriste
o Inornet? pristo measure(s) to taks 10 protect the Intellectual property rights of photos posted 0n

(1) Digitl sighature
(2) Digitl watormark
(3) Firowall

(1) only
() only
(1) and (3) only
(2) and (3) only

ooOowW>

What is/are the beneflt(s) of us
ing a fingerprint over a password for suthentication in computer systoms?

(1) In goneral, the input time is short
or.
(2) The system development cost is cheaper.
(3) 1t results in fower mistakes as long as the finger s cloan

(1) only
(2) only
(1) and (3) only
(2) and (3) only

ocow>

END OF PAPER
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\nswer all questions,

A secondary schoo| developg an inte :
the campus for Studentg to uge to acci:‘;‘: Onling ¢ 0t sygte -
€ Syste Provideg 5 Number of Workstations on
(8) The student System wag designed Mainjy for legyr:
U8 Engligh
() There are two Optiong belo ;
of each optiop for "Mstalling the "NPUt device, of the Workstations, G; dvanta,
Ve an a van ge
Touch SCreen;

(ii) Other than disp
Justify its uge,

(1 mark)
ards, network cables and g
explain the uses of thege hard

Witches are Needed to ingtay) the workstation
ware Components;

S. Briefly

Network cables:

—_—

e
Switches:

Network interface cards;

(3 marks)

(2 marks)



—_—
The integrated online student system also provides an email service.
(d) () Students can forward all received emails from this system to their personal email accoupt,
automatically. What is the major benefit for the students of doing this? ‘
o T—
T ——
(1 Mark)
The email service allows students to send files through email in the following two ways:
E MI: Attach a file to an email.
i M2: Include a hyperlink to a file in an email.
E (ii) Give a benefit of using M2 over M1.
E
? i
!
{
0
!
? (1 mark)
i
{ (iii) Give a benefit of using M1 over M2.
E —_—
(1 mark)

Answers written in the margins will not be marked.
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(2) Peter installs anti-virus software in a]} computers,

() The anti-virus software needs to be updated. Why? Give two reasons.
ons.

(2 marks)

(ii) Other tha'n anti-virus software, su. est i -
the security threat that this measurgegcan :::i’\t:’c:r S bl sk e

) Teachers sometimes request Peter to install software on their computers. Peter works on the installation
every Saturday morning.

(/) Which mode of operation, batch processing, parallel processing or real-time processing, best
describes Peter’s work? Explain your answer briefly.

(2 marks)

tem a2l mmt ha markad



Answers written in the margins will not be marked.

(if) Peter browses a web sito to download particular freeware, as shown below:

Choose the operating system for downloading the freeware:
Linux MacOS Windows

Give two differences between these operating systems.

—

—

(c) The school investigates the digital divide among students’ families.

. Coag

() Other than household income, suggest two significant factors that cause the digital divide

\

(i) Give two ways of narrowing the digital divide.

\

 Cmay

\

ATSWerS written in the w.-.
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Answers written in the margins will not be marked.

iversity, all lectures are recorded on video,
mﬁm to watch the videos, Mr N, the IT manager of the university, plans to build an

(s) Compare AV1 and MP4. Give a benefit of using each format to store the videos.

J\'/ H—

g—

MP4:

/

(2 marks)

®) Mr Ng allocates 60 GB storage space for each course. In the system, a 1-minute video takes up

roximately 11 MB. Estimate the maxim :
gﬂm Show your calculation, um number of bours of video that can be stored for each

(2 marks)
(© Mr Ng wants to increase the number of hours of video stored.
(i He finds that using a data compressor cannot help much. Why not?
(1 mark)
(ii) He finds that using defragmentation software cannot help much either. Why not?
(2 marks)
(iif) Suggest a solution for Mr Ng, without changing the size of the allocated storage space.
(1 mark)

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.



d) Mr Ng considers using streaming technology to broadcast lectures live. Give
F (

ol a benefit 5
ing technology and identify its limitation. of “slng
stream

——
(e) Is Public Key Infrastructure (PKI) suitable for
briefly.

preventing eavesdropping and interception? Explajy

—
- Comag

3

Ms Wong uses a database table ACT to store information on extra-curricular activities in her school, Suppos %

that ACT has the following five records: ‘ 3

' g

CODE NAME TYPE QUOTA TEACHER é

10207 English Club A 20 John Ho s

10102 Chinese Club A 40 Mary Li E

20215 Japanese Club B 10 Peter Wong H

44002 Chess Club B 25 Greg Li 3

40105 Mathematics Club A 30 Greg Li 8§

g

g

b

(a) Explain why TEACHER cannot be a primary key for ACT. Use an example to illustrate your answer. §

. i

{

(1 mark)
(b) What is the output after executing the following SQL command?

SELECT TYPE, SUM(QUOTA) FROM ACT GROUP BY TYPE

=

(2 marks)



Answers written in the .

Answers written in the margins will not be marked.

© ® Ms Wong defines a rule in cop

o E for validation-
divisible by 10. ton: the sum of the five digits of a value in CODE is

In the five records, which valye iy CODE is invaligy
vali

" (1 mark)
UOTA stores the ivi
(ii) @ quota for each activity, Suggest two validation checks on QUOTA
PR \
i e
(2 marks)

(iii) Ms Wong finds that incorrect data can still be en

; tered i sdati
checks are applied. Suggesta Wway to improve the aCCIl.lnrta(::)t!h :fdtlaxteali,:;:tt:l;:: even when valdation

(1 mark)
(d Ms Wong copies the records in ACT into a spreadsheet:
A B C D E

1 CODE N'AME TYPE QUOTA TEACHER
2 | 10207 English Club A 20 John Ho
3 {10102 Chinese Club A 40 Mary Li
4 20215 Japanese Club B 10 Peter Wong
5 | 44002 Chess Club B 25 Greg Li
6 | 40105 | Mathematics Club A 30 Greg Li
7
8 Average 25
9
10 TYPE Num.be.r .of

activities
11 A 2
12 2 C

() Ms Wong enters a formula in D8 to store the average quota of the activities. Write down the
formulain D8.

(1 mark)

(i) Ms Wong uses D11 and D12 to store the number of activities of TYPE='A’ and TYPE=‘1'3‘
respectively. She enters a formulain D11 and then copies it to D12. Write down the formula in
D11.

(2 marks)

| PO

tao to sl mcnica il nat he marked

Answers written in the margins will not be marked.



(e)

e

Theve are three new extra-curricular m:liviliois. namely
Ms Wong needs to prepare a presentation with several

moring assembly. In the presentation, she will use same text and a photo to describe each actiy

the layout design of the presentation, with annotations.

Spanish Club, Robotics Club and Fencin
slides to introduce the activities to sty d°8 C!Ub‘

it;ti):g

—

(3 marks)
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et Jesigns an algorithm of a number guessing game as follows:

lq4_.100
ANSWER « a random integer between 1 and N inclusive

do
input an integer into GUEsS

if (GUESS < 1) or (GUESS > N) then
output "Out of range!"
else if (GUESS <> ANSWER) then
output "Try again!"®
until (GUESS = ANSWER)
output "You win!"

(8) Suppose the value of ANSWER is 19. Suggest an input value to test the algorithm for each output.

e

Input Output
Out of range!
[—
Try again!
You win!
(3 marks)
(b) Mary plans to make two modifications to the algorithm:
1. If GUESS issmaller than ANSWER, display "Too small!" and
if GUESS is larger than ANSWER, display "Too large!";
2. Allow users to guess at most 5 times.
(i) Complete the algorithm below showing the modifications.
Line number Content
1 K« 0
2 N « 100
3 ANSWER ¢« a random integer between 1 and N inclusive
4 do .
5 input an integer into GUESS
6 if (GUESS < 1) or (GUESS > N) then
7 output "Out of range!"
8 else if( ) then
9 output "Too small!"
10 else if( ) then
11 output "Too large!"
12 K «
13 until (GUESS = ANSWER) or ( )
14 if (GUESS = ANSWER) then
15 output "You win!"

(4 marks;



be marked.

T " .
Answers written in the margins will not

wrong. Why?

(i) If Line 14 ‘if (GUESS = ANSWER) then’ is omitted, the output of the algorithy,
Tay

be

—

—

—

l mark
(¢) Mary completes the number guessing game and uploads the program to the Internet for th )
play. * Publi to

() Mary licenses the program as open source software. What can users do with the Program? G;
examples. Give two
———
—
2 maryyy

(i) Some users install the program on their mobile devices and play the game for a long t
4 time ev,
leading to some health problems. Suggest two ways to relieve these h i o day,
taking breaks. 4 es¢ health problems, other than
—_—
\
— |

)

END OF PAPER
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